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02 2B HAHE L 117,000 88,000 29,000
FHEIE H=2l A 20,000
HEAESAME XA 10,000
AR SAE AKX 2k 7,000
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AESAMEE 22X MK 600
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== 1,924,125
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S|IYIISSE At ZEl AFS 37,220
= 26,054
T 5,583
Al 5,583
2z, XN9iady & 29ede 29 (Al 30,708 29,262 1,446
=, Atell)
iy 21,496
T 4,606
Al 4,606
307 QIZ2t01 A 30,708 29,262 1,446
= 21,4%
& 4,606
Al 4,606
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= 21,49
& 4,606
Al 4,606
NS REEE (KM, HHZA]) 15,960 16,680 AT20
T 4,788
Al 11,172
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= 4,788
Al 11,172
10 IS SXAIEHE2ZHIER 15,960 16,680 AT20
KNSR &HEH SAHA ML 10,560
& 3,168
Al 7,392
NSTEHE SALA ZH=AlH| 5,400
& 1,620
Al 3,780
KHEZ 2 AR (RHAN) 5,300 5,300 0
201 Let23H| 5,300 5,300
01 AtR2elt] 800 800
HEAE 73X 2EH 100,000 »8H 800
02 B2=2gH| 4,500 4,500 0
SI=EXNME AlIER XU 4,500
KERE2E AFSAHIA SEXAF (JFAIRZES) 134,071 134,071 0
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Mo 20| EMBEY
el 5= K&l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEAtel2telA 21248 X1~ 101,628 99,960 1,668
= 50,814
== 15,244
Al 35,570
101 e124d| 86,828 99,960 13,132
= 43,414
=S 13,024
Al 30,390
03 SR (RIH )22 UHE 4 86,828 66,640 20,188
SSAIIBRIAL QI2EI(R2X)
43,414,000 x2& 86,828
= 43,414
= 13,024
Al 30,390
202 04| 4,000 0 4,000
= 2,000
= 600
Al 1,400
01 2L AL 4,000 0 4,000
SEAtIZEIAF 2E 0
2,000,000 x2H 4,000
[ 2,000
= 600
Al 1,400
M HASFESS 10,800 0 10,800
[ 5,400
= 1,620
Al 3,780
04 SR (RIH)22N BEE=2RES S 10,800 0 10,800
SEAHZ2IAL AU EE(OI2RES3) 10,800
[ 5,400
= 1,620
Al 3,780
SE=EAXNFANAY 2SN 21,736 21,125 610
=S 6.521
Al 15,214
201 et 3| 21,735 21,125 610
< 6.521
Al 15,214
01 At2t2lt] 21,735 21,125 610
A= SN =2d 21,735
= 6,521
Al 16,214
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AZ7 SEAtdl2el K& 14,644 14,644 0
= 7,322
Al 7,322
201 er2 3| 7,322 7,322 0
= 3,661
Al 3,661
01 AtR2t2|HI 7,322 7,322 0
Atefl2rel Mg 2 7,322 +1,000H 7,322
[ 3,661
Al 3,661
301 LELEE S 7,322 7,322 0
= 3,661
Al 3,661
01 Al EEATZ(2REZMR) 7,322 7,322 0
Aredl2telor+ X1 7,322
= 3,661
Al 3,661
SHE XEE SEAMHA NEH 157,801 134,400 23,401
[ 110,460
Al 47,341
201 2= 78,900 67,660 11,240
[ 55,230
Al 23,670
01 At2t2ltl 73,224 59,404 13,820
SHUS Atdi2d XNE 2 73,224
s 51,257
Al 21,967
02 S3=gl 5,676 8,256 2,580
SHS Aldizel X 2g(s4l)
23,6502 «20CH* 122 5,676
[ 3,973
Al 1,703
301 LELE NS 78,901 66,740 12,161
s 55,230
Al 23,671
01 AR E2EHSFS(RRNEERTHE) 78,901 66,740 12,161
SHS AtdiZel Xd 78,901
= 55,230
Al 23,671
IZUBI0IHAZ S S 19 2 &, 2l HEX 28| 180,000 300,000 120,000
K2 AL
= 90,000
= 59,940
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 30,060
301 EtE NS 180,000 300,000 A120,000
= 90,000
= 59,940
Al 30,060
01 Al EE AT Z(2DEXR) 180,000 300,000 120,000
DZLH9 YHACIA XA 180,000
= 90,000
& 59,940
Al 30,060
=2ESIISMH 108,710 0 108,710
= 58,669
< 10,267
Al 39,774
SESAY 2E (M) 36,374 36,374
101 @124H| 36,374 36,374
08 SRA(PINAHAL) 222+ 36,374 35,374
SEENECIMEEE) %374
- A G A 140,0002 <2+ 122 3,360
“WS 2| 50,0002 x2& 122 1,200
A= 40,0003 x2&* 123 960
-Helg 30,0002 x2& * 12 720
-Sc|sdg 10,0003 28123 240
-2 4| 3,617
2sz(174) 123, 1203 x 12 x 156 1,847
195 3(64) 118,000 x1&» 15 1,770
-SESOt| 6,329
. 258(174) 1,610,880 x 122 3,222
. 195=(69) 1,553,280 x 122 3,107
-g32=g 4,239
253 (174) 1,342,400 +1E 23] 2,685
. 1985(64) 776,640 x12H 23] 1,554
-d2ad OKts 1,560
. 2&83(174) 80,0002 18 x 122 960
198 S(64 50,000 18 * 122 600
AR 2R 5E 10,849
. 255(1749)
23,0802 *20A| 2t 1H 128 5,540
1953(64)
22, 1203 *20A1 2t 1E 1200 3 5,309
JIEHaEE 8) 2,300
At 2RI EER AN L (A2 2 S22l AL 73,336 0 73,336
= 58,669
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Cel: 22 SIISMY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,267
Al 4,400
101 @124H| 63,736 0 63,736
= 50,989
== 8,923
Al 3,824
03 SRA(RIH L) 222+ 63,736 0 63,736
o230 ARIAH(S2RH) 63,736
220 61,076
= 48,861
< 8,551
Al 3,664
-dit= 1,330,000 x2H 2,660
= 2,128
== 372
Al 160
04 HSRESS 9,600 0 9,600
= 7,680
== 1,344
Al 576
M SRA(RIHL) 22N EE2RE=s S 9,600 0 9,600
S2Z 022 4HEE (DI 2RE2) 9,600
= 7,680
=S 1,344
Al 576
INEPN =1L NN = 3,8%,675 3,529,771 365,904
= 320
= 566,200
= 146,158
Al 3,192,997
ARSI MBI A S 1,425,254 1,360,842 64,412
= 320
= 556,200
[ 135,466
Al 733,268
A2l =RIgelsl X 108,800 94,247 14,553
307 glztol & 108,800 94,247 14,553
02 LB AL E X 5,000 5,000 0
ARISXIAE = d&X Ast 5,000
03 P HHEE 22X 103,800 89,247 14,553
A2ISXESl e 23 103,800
-AFRIERE S el2t| 86,400
-Atel=XEes 23l 17,400
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= 552,700
== 118,436
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201 =3 2,151 2,180 1
= 1,505
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KSARIAHIA SXAFY OHAZ RIE &
SE=MSBI12 QHEIE K& 2,151
= 1,505
= 323
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402 2I2E X201 & 787,421 773,136 14,285
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Al 118,113
03 2IZ+2AEAIEHI 787,421 773,136 14,285
NG A MBIAETIALE 2SI 787,421
[ 551,195
= 118,113
Al 118,113
KA S EAS MHIAS TG (B E OIS HA X R ALY) 5,000 12,797 NT, 797
[ 3,500
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[ 3,500
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= 3,500
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A== XIS & A X3 31,500 21,500 10,000
201 er2 3| 1,500 1,500 0
01 AtR2t2|HI 1,500 1,500 0
A2ISX 28 RSA ZE
100,000 %15 1,500
307 @I2t01 & 30,000 20,000 10,000
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M NSAEISX X
=2l ARISX Ad=E E X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 609,653 565,933 43,720
SESSA=NE 28 609,653
1 AMEISXAIEEES 72,100 68,000 4,100
SESEAASAZ SAAE 72,100
402 2I2F X201 & 32,800 32,800
01 BIENSA S E X (XM THR) 32,800 32,800
SESEAMATA2 JSESZA 32,800
ABISXAIE 22X HRMHE ¥ X3 (EX) 25,560 24,840 720
& 7,668
Al 17,892
307 lztol & 25,560 24,840 720
= 7,668
Al 17,892
10 Al SXAAEEHE 22X 25,560 24,840 720
SESSARFA 2 SAHL XIS 18,360
= 5,508
Al 12,852
TSRS Z SAL EHZAH] 7,200
& 2,160
Al 5,040
ZE0E Ex12g N 67,111 63,180 3,931
307 elzto| & 67,111 63,180 3,931
03 2N EE2SHIEx 67,111 63,180 3,931
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NSAMBIZX R=(AZE XA B=1=HI) 15,120 15,120 0
S 3,024
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307 glztol & 15,120 15,120 0
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Al 12,096
11 AMEISXAIEEXS 15,120 15,120 0
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= 3,024
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1,000,000& x80E « 12 960,000
AMBIZER2R X 188,240 0 188,240
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301 EtE NS 1,000 1,000 0
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